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SOLUTION

R = Tg sinO-~ Ry VersO+ RS

R, = T, sind - Ry versO + R

vers O L

L
Vers O s

vgrsA—(RL—Rs)Vers As

TL = RL
Rs = Ts
R, = Rg

sin O

sinO- Ry VorsAL

VersA- Vers AL

vers As— T sind

vers &g - Versd

R, = Ts

sinO- tan 1/26L L*Ts

(T, +T_cosd)

VersQA - Sind tan I/ZAL

Tan 1./ZAL = Tg sinO- Rg Vers &

T +Tg cosO - Ry sind

Tan I/ZAS = RL VersQ - TL sin

Ry sind- T, cosO- Ty

cuséL =R - Tg sinO- Rg cos O

v
ers AS

L~ Rs

= R, vers O - TL sind

P.C.C.

FaY

o

[AY

L

S

LEGEND

- Point of Curvature

- Point of Compound
Curvature

- Point of Tangency

- Radius of Major Curve

- Radius of Minor Curve

- Long Tangent

~ Short Tangent

- Total Deflection Angle
of the Compound Curve
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- Deflection Angle of
Major Curve

- Deflection Angle of
Minor Curve




